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Ql. 	Find !;wo linearly independent series solutions of 2;r; yl! y' !J = 0, ab(Jut the 
singular point x = O. For ea.ch "eries, give only the three first~ terrr~s. 
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Q2, Solve the linear system 
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1 -2 1 


Q:3. Consider the lll.atrix A 000 

--14--1 

b) Cse t 1 I .. 1
. ,0 so ve ue Imtia-value problem 
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Q,1. Solve the initial-value problem 

d:r 
dt = x + 211 

dy

""dt = -4x 37/ 
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Q5. Fmd the general solution of the 

212 


X'(t) 1 :2:2 XU), 
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Q6. A solution of the equarion 1!j1ll - -.,yA. /I +ly"I = 0 could be ' , 

~a) 1 

(b) 	;r:2 e2'" -i- 4 
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Q7. If Y(l:J is the solution of the initiCtl va'ill"" (, ­ (, ,. " 1 Iprot) enl 

2. /IX Y 3" I- Jy + 4:'lj,, = ('J,. 1) {,=1,y(1) 0, 

then v( c) is equal to 
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Q8. The differential equation 

+n:r sin Y),I)' == 0 


is exaGt when In + n equals 
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QU. 	 A glat:;s of water initially at 7(YF is placed in a freezer. The freezer is kept at 
a coma ant temperature of 50°F, AJter Olle hour the tern perature of the water 
i" GO°F, The time (in hour) needed for the watc'l' to reach 52.5°F after it is 
placed in the freezer is 

(a) 2 

--"" (b) :3 

1.5 

(d) 2,5 
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Ql0. If y(x) is the sohn;ion the initial-value problem 

(-1- -1\ I, len y!;;) tXIWJ" S 
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Ql1. Given that II (1') - .. 2 ('. , 0)' ,.' ,1,. - x x> IS a. solution of (1'2 + :1':'11 It._ r - ~ y ..I 

S(,lutlon of the initial-value problem /Y "y :c _· 0, the 

(), !I(l)," :t. 1/'(1) ·····4+-X)y" 

equals 
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(b) -·4 
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Q12. An annihilator of the function 

cos 5x - 2e:'h sin 5x 

could be 

(D -j- 4)2(D2 -- 4D + 29)4 

~ (D + 4)5(D2 + 4D + 29)(; 

(D2 - 4D + 29)2(D 4):3 

(d) (D2 + 4D + 29)3(D ,+ 4)2 

(e) (D - 4)2(D2 + 4D + 29)4 

~~\ 4\) -\- ~~) is ~ o...'M\i\A~\,,( ~~ :s X'!>e-~5X _~£U'6ij\ ':lx. 

l? + 4\\S O-M. o..'l\'(\,\'ih\I!)( e-~ >f 'I. '- e- ~1.. 
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Ql:~. A s,)iudon of the equation 

could be 

1 
(a) = 

;r4 
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the differentia.] eqUictionQ14. A pa.rLcu!ar solution 

+ 4y' +- HeCJ; 

cuuld be 

e---r 


(-a,i - cos x +' I 8m r . )
;.) X sm r .n 

X e-- (ccsxlnl c<)s:x:1 + sin 
f:··--';'C 

--P- (c) ~-2- (cos x In Icos xl + x sin 

(d) cos:£1nlc08xl +-xsin:x: 


